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He sold trees and retained the land — DPAR WY DRI DN

OVERVIEW

The X713 states that in a case where one sold the trees on his property, but retains
the property for himself, there is a dispute between 11271 v, whether the one who
bought the trees acquires any land for himself (at least to the extent that he may
replant these trees after they wither). There is a dispute between the 2"2w" and
MBoIN as to how many trees he purchased.

The 7w in 0°27 DR 200 P12 states' that if one sold a field he did not sell the M2,
etc. which is in the field. The M2 still belongs to the owner. There is a npYomn
between 1127 ¥"7 whether the owner retains his right of way to the m12. The 1127
maintain that he retains this right of way since 721 7¥1 v, while ¥"1 maintains he
lost this right of way for 72m 79 pv2.”> There is another nponn in that mwn
regarding w7ps. The 13127 maintain that if one 1s w*7pn a field he is w>7pn everything
in the field including the 713, etc. (because w>7pn 719° 1°¥1), while w"9 maintains he
1s not W>7pn everything in the field (we do not say w»7pn 139° 1v2).

— 599N YN 7237 >090990 Y

The 2'"2w+ explained that we are discussing a case where he bought two trees

only -
— (%0 97 0pY) NI®QDN NN 191N INTI YPIP NIPT P9 DN /)34

For if he bought three trees all agree that he acquires land, as we learnt in a

TIWR in 7399977 DR 217 PO -
— *NaYDY 9299 1959N 1Y ¥P1) N *13299 *NINa 1Y sPI0)

And the X923 initially established the 71wn» according to the 3139 (who maintain
721 7Y Y2 701), and subsequently the X713 rejected this view and established

the mw» even according to ¥''9 (who maintains 72% 719> 1°v2 1912) -
— N2YPY 5395 NN KY ¥DIP 19 PN DY NPT KW “Nt 299

LRoRy.
* Nonetheless ¥ still maintains that 1127 DX 122 XY, even though 751 779> pya.
? See xna1vo 1"7 0",
499,
> The mwn there rules that if he bought three n1?°X (where he acquires a limited amount of ¥p1p) and the tree
branches spread out beyond their allotted space, he must trim the trees and confine them to their limited area. The
X3 assumed that according to ¥"9 who maintains 921 719° 1°¥2 72w, there would be no such requirement to trim
the trees.
% The 1 there explains that even ¥" admits that he did not give the buyer special rights if it is Xy X *wnan.
7 Once we say that our X3 is discussing two trees and according to ¥" he receives ¥pap this conclusion is inevitable.
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And according to this, the X2 of that 71w» (in 71°9077 NX 1217) which states that
if he bought two trees he acquires no land, does not follow the view of "~* —

mooIn cites and elaborates on the s'a"2w" proof that according to ¥ he is ¥p7p 11p by 'R 19°K:
— NPT (0w nay 97 0v) 72D HN 92191 9102 NN 1)

And so it is evident in the end of n°277 nR 2217 P75 where the X113 cites a Xn»02
which states -
— VPPN HR WIPN RY NT NN N Y10 ARD 22D 72 YUNN MNIDIN /) VITPN
One who was ws7pn three trees (simultaneously) in the ratio of ten trees per a
©'"3, etc. (he is [also] w>7pn the land between the trees); however if he was w>7pn
the three trees one after the other (not together) he was not w>7p» the ¥pap -
— WD 19V 92 993 ND% PP 993 TIND NI¥DY 539 NNIYIN T390 7999
And the X3 asks [who is this X072 according to]; can we say it is according
to ¥''9, but he says that (even) 99 112 1°»2 9257 and certainly a woTpn is wpn
DY YA -
— YPYPN DN YWITPN XY AT NN D12 INNIN) VI
The explanation of the s'X7n3 question (according to the 0"2w") is; so why by one
after the other he was not w>7pn the ¥Pap, since certainly w>Tpn 719° 12 wIpni so he
definitely included the ¥7p each time he was w>7p» one tree (according to ¥"1) -
— Pymam 735 593 1AN )9IN NIPT YWD NN
It is seemingly evident that when one buys even one tree he also acquires ¥pap
(according to ¥"), and therefore the X of the 72wn (in 712°907 P19) which states that by &7 '2 7P
ypIp 7P cannot be according to ¥". This concludes the citation and view of the o"2w".

In summation: The 2"2w1 maintains that our X°x10 (which discusses the case of w1 MI?»KR 79n
ypp, whether the nMi%°87 Yva is ¥pap n1p) is discussing two trees, for by three trees he is P
ypp according to everyone. According to ¥"1 even by 'X 12°K n1p he also has yp7p. The o"awn
proves this from his interpretation that the X713 (in n°277 p79) assumes that the Xn°72 there (which
states that if he was w>7pn trees 7"'1X12 they are not w7pn) disagrees with ¥"7 who evidently must
assume (that ¥p1p 73p 'R 12°K 73p and certainly if) Yppi woTp0 'R 12°R WP,

mooIn disagrees:
— (x,x9 97 DY) NIPDDN NN 9N PNT NXNT 1% XNT PNYY 139299 NI PN)

And this is not the view of the °''9, for since that which the 71w» taught in P79

8 According to ¥"1 who maintains 121 719° P¥2 731, even if he buys two trees (or even one tree) he is ¥pp 71p, for
the seller is generous in his sale and also includes the ypp for the tree in the sale.
% The n"27 M substitutes the word '»3%' instead of 7°1».
10 Otherwise, if ¥ does not maintain that YpP 1P 'R 17K 1P, why cannot the &n>12 be according to v"1!
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7195077 NR 947, that when -
— Hyman nym 8D DIWA X2YPY 5399 TH9 9 19 ON NIYPY 5399 533 Y9I ¥4 N3P /) 3P
He buys three trees he acquires land, is also established according to ¥''9,

perforce you must say that by two trees he is not ¥»9p 7139 even according to »'' -
— ¥PYP NP NY 72 YN YPIP N3P 7N NPT ¥Yn san1

For this is the inference of the mwn; only when he buys three trees does he

acquire ¥pap, however when he buys two trees he is not ¥ 7332 (even according
to ¥"7). We cannot therefore say that the np1onn here is by nu%»°x '3, for everyone agrees (even
y¥") that by n11%°X '2 he is not ypp mp

mooIn offers his interpretation of our X 73i:
— PMNYIN /)2 PHYNYT RN WD v 75Y

Therefore we need to interpret our X923, (only) by three trees (and it depends on
the NP2 between 731271 ¥'"1 whether he is 71 the ¥pp or not) —

mooIn anticipates a difficulty:
— VPP NP X3 NNYYAT 2N HY 9N

And even though generally when buying three trees he acquires Y99, so how can
the 7327 maintain here that ¥p7p 717 RS —

mooin replies:
— PNDINN TIEY NON ¥PIP OV PRY 111D 999197 NI 1INY

Here it is different for we are discussing a case where for instance there is only

enough vpap for the needs of the trees -
— msyH VPPN 9PVYNY NYTHa v

And the seller explicitly stated that he is retaining the land for himself -
— 99un ¥P99N Puaw viraa 9N 91 f1wa N

Or (even) by a large field (where there is more land than what is needed for the
trees), however, he explicitly stated that he is retaining the entire land for

" Once the X 3 establishes the mwn (which states ypp 3P 'a 73p) like v"1 then it is evident from this statement of
the 7awn that ¥pp 71p X2 "2 71p (even if we ignore the Xw of the mawn which clearly states ¥pap 71p 82 2 71p).
"2 The trees however were planted close to each other in the proper manner of a 12°x 717w, for if they were spread out
over this entire 7173 77w, he would not acquire any ¥ (see yunn "7 2,07 '0In). See R"wan.
5 In the previous case (where there was only N1?°R7 722 ¥p7p) then if he said that he is 9»wn the vpap (even
though he did not say he is 7»wn all the ¥7p, nevertheless) he retains all the ¥p7p (for which ¥pap can we exclude;
all the vpap is MK 7113 and he retained it for himself), however in this case (where there is more vpap than X
nIRi) then he retains all the Ypap only if he stipulated clearly that he is retaining all the ¥pap, but if he would
merely state that he is retaining ¥p1p, then he could only retain the N1?°R77 77192 Xow ¥pp (see [however 1"2:7 NAn
and] R"wann and 2"ml.)
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himself; in such a case -
— *oy95 Y0P n 913 NP RY XYY S99

According to everyone (even ¥'"7) the buyer does not acquire any land at all -
— YWAVUD 1PN NN YOIY 9125 191 N9 PV 99 TINT INIY NN

However according to the one (¥''7) who maintains 921% 7725 P32 991, the tree
buyer can replant another tree it its place when the original tree will wither.

In summation: M5OI maintains that the NP2 is by three trees (in a case of ypapn [22] W),
however by two trees in any event he is not ¥p7p 1P (even according to ¥"9).

mMdoIN explains the X113 in N7 AR M7 poo: '
— 16]1)”3\’) 2297 ))2595% NIIN) NPV 229 N1IIDIN 231 IYITQ 991 NN NN 99MNT NN

And regarding that X723 in n°377 nR 951727 P9, this is the interpretation; the X772
asks, according to whom is the Xn>72 (which states that if he was w>pn three
trees T"'MX 712, he was not ¥*7pn the o1 aw ypIp), shall we say it is according to

v'"9 in accordance with the 3239 who argue with @' -
— UTPN NIN N9 PYA WITPN INY XYA0T

For the 7127 maintain that w>7»72 X7 775° 102 WYTPR; we cannot say this -
— YT 19V DY 9911 NIN N9 PP 999 9N NN
For v"1 maintains that (even) 727 X177 718° 1°¥2 1213 and certainly 719> Pya woTp»

w>7pPn [so why by 1"'1XT is the YPpP not w7pn (but not necessarily by 1on)]-
— 1999 1IN YITPN WITPNA 19INT PIYNRY 2297 19297 RIIN) 1329 NIN)

And if you rather say it is according to the 32339 (of ¥"1 that 721 7¥7 7°¥2 701) in
accordance with the 3139 of w'9 who maintain that by w>7p» a field he was

w7Pn it entirely including the m7 712 (not like w"), nevertheless it is still not understood -
— UM N9Y PYA YITHN YAN 991 NI P 19 IN 99

For even though the ¥"97 71127 maintains 921% 7v9 °v2 92, however they agree

with the w'"97 7127 that we7pn 79° PYa wITPR -
— 9911 199 Pya wITHN INN 99197 119 XYY 1199

So since they ([¥"7] 1127) maintain that one is 779 P¥2 w7pP» [more] than 957 -
— WMTPN ONY TOIN ¥PPN PRY M N2 1ONT

For even the n17Y 112 which is not necessary for the ¥»ap is also w7ps, then -

' The owner explicitly stated he is retaining all the land for himself. The law of ypp 717 '3 7P is when the owner
did not specify anything concerning the ¥p7p.
' The "aw" (cited previously in this MpoN) proved from the X»3 in n°27 NX 727 that according to ¥"1 he is 7P
ypIp even if he was anp one 12°X; our NN will now refute this proof.
' The m1wn on X,RY states: 21 KR W*TP KD TTWA DR WTPRT MR @' 7913 DR WIPR 77wR DR W Tpni. See ‘Overview”
' The n"27 naan amends this to read, 1omn 3pw 719,

4

TosfosInEnglish.com



7on "7 '0In 2,19 2" .7"0a

— 1998Y N9YINN PPN AN YITPNY 1NN NN WITPNL 19V Y
Certainly by 187 nX w>7p» that he was @ 7p» the ypap which is necessary for

the tree (even if it is one tree), so how can the Xn»12 state that 1"nX 1713, the rule is that w7pn
does not acquire the yp7p -

- 19)";7‘1‘,711 NN 9919 XY 9915247 2) DY 9N)
And even though that by 92%» when he sold (less than three) trees he did not sell
the »P9p (both according to 131271 ¥"), nevertheless by wps there is more reason to assume
WP 19° YA WP, the ruling should be that even 1"'1X 712 the ypap should be wps.

mooIn anticipates a difficulty with this interpretation:
— 19 Y999 9WON N 91 N7 NININ 117510)

However regarding that which the X713 states afterwards it is impossible to
explain that in the same manner -

— N2YDY 5397 N2IN NN INNDT X2INY “Ppyny 229 NOIW XN [V9NDT]
For the X ) states, but rather obviously it is according to w'+9, but in
accordance with whom; if we shall say in accordance with »''9, that cannot be -

— WP 19V 95 99%3 N PP 999 AN NN

For »''1 maintains 92 712 J°w2 92 so certainly ¥ 7pn 7190 1PYa wSTPR, so why
1"1X72 it is not WP, However according to mooin that even ¥" agrees that by 71p X2 'R 12K m1p
ypIp so what is the question that since ¥"7 maintains 79> P2 701 so 719 Py W pn W'D, but
nevertheless he cannot be ¥p1p 7P if 73p only 'R 12°K, and therefore by w>7pn (according to w"
that he is not P the M7 72 in the wph field) it is the same that by X 12°8 w77 (or 1"1XT) he
is not ypp wrIpn!

mooIn responds:
— X930 9997 PR WI9Y W DY S

' The tree requires the surrounding ¥p7p for its nourishment and existence much more than the vpap requires the 112
m for its irrigation (for it can be irrigated from elsewhere).
' The n"awn proved from the X3 of n°277 NX 727 that Y"1 maintains that even if ¥Yp1p 73 'R 12°K 73p, since the Xn3
asked 2w 7197 Y2 70 MK KT ¥ KR!, assuming that the X713 meant that since ¥ maintains by 127 that 719° 1°¥2 70m
and therefore even if ¥pap 73p 'R 12°K 11p, the same applies by w7pn. However nooin explains that when the X3 said
¥"9 R (or 1121 °X), they did not mean (73271) ¥" per se, but rather j127 ¥"9 according to the w'"77 13127 who maintain
WrTpn 19 YA W PR more than 1w 19° 1Y (since by WP he is W Tpn even the 112 [not like by 157; see footnote #
2]) and so by wpn (only) the rule should be ¥pap 73p 'R 12°R wTpn for the tree requires the yp1p more than the ypap
requires the M3, and the 72 according to the "7 1127 the 712 becomes WP when he is w»7pn the ¥pIp, so certainly
the ¥y of an 17°Kk should become w7p11 (even though that by 101 even ¥"1 agrees that ¥pp 73 R2 N1U?R '3 73p). See
‘Thinking it over’ # 2.
2 See footnote # 16.
! Indeed we cannot prove that ¥"7(7 R2°9% w") would maintain that ¥pap 737 '8 12°% w°7p1 (since ¥"1 maintains that
by 191 the rule is that ¥ 73p X7 'R 1% 71p), nevertheless since we can assume that the 739° 1°v2 w>7pn is greater and
more likely than 719° 1v2 707 (for the 1127 who maintain 77¥7 12 731 nevertheless maintain 719° 1°v2 w7pn), therefore
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But nevertheless we can somewhat explain that the X923 asks logically (but not
from an irrefutable proof) -

— WTDNR 19 PYa Zoyn M1 19Y 93 WITDNRT 910915 19 FONX 9910 N9 1P¥a 999191 119
Since 92 7125 PPY2 992 (to the extent that he grants him the way) it makes sense

to assume that regarding w>7p» it is certain that he is 715° PP¥2 W 7TP» even more
than he is 719 1¥2 791, so that -

— 1P RY 991537 23 HY N ¥R NN WITPNN WITPD 393 TN 19INI)
Even by one tree, the wpn was wetpn the ¥pap even though that by =2» he

would not acquire ypp if he was 1p only one [or two] tree[s].

In summation: the Xn>12 which states 1"'1X712 he is not ¥p7p 7112 can certainly not follow the view
of ¥"7 and his 7127 if they agree with w"37 1127 that he is w>7pn the M2 (when he is w>7pn the
field), because if the 712 becomes w7pi the ¥pp of the tree should certainly become w7pr, and it
cannot even follow the view of w" that M2n Nk w7pn XY, if we agree with ¥" that 7777 1% 107
(since 121 X177 790 Y1) for it follows if by 27 it is 71777 12 791 so by wpn (which is more 719> 1Y
than 1on) the single 19°X should be ¥pap w>7pn (even if it is not w>Tpn the M) for ¥pap is more
77X the 12°K than M2 is ¥pp 718, However in no way can we infer that ¥"3 maintains that o1
YRR 1P 'R IR,

mooin offers an alternate explanation in the X713 of N2 NX 7217, which will not allow us to
infer from it the opinion of ¥" regarding 'X 12°X 75 whether ¥p2p 737 or not:
— Pyrrpn Ayq pyat onn P31 At NN Nt PYTn non 89T WY U T

And in addition we can explain the X773 in n°27 NX 71217 that the X3 does not
infer that the Xn>>72 there maintains that w>7p» w9 P2 based on the ruling of

AR T WP -
-ND1 YPAPN NN WITPN NT 9N NIRD 51%2D 79 YUNN NNDIN NYIY YWITPN 2INDTN P11 NON

But rather the X7 n) infers that the Xn®92 maintains 7¥7 Py2 vph, from that
which the Xn>12 taught, one who is wsTp» three trees in a ratio of planting ten

in a ©''92, he was wspP» the entire ypap -
— 9919 DYV 9990 Y91 5192 %95 NN N9 NIIYA ‘[b’ﬁb

it is logical to assume that if by 77°3% the rule according to ¥"1 is that 7777 12 19n, it should follow that ' 12°R w>Tpn
vpp mp (even if Ma7 WP XY TTWR W),
*2 Therefore even though we are following the view of w1 who maintains that he was not w>7p» the M3, nevertheless
since we also follow the view of ¥"3 that 15w 179> P¥2 (and 77777 12 791) so it can follow that by w7pn (which is more
79> 1V than 7o) that if he is w>7pn the 12°R he should be w>7pn the ¥pp, since the ¥pp is 12°K77 71X more than the 712
is ¥Pp 71X (see footnote # 18.)
# Others amend this to read w>7pn (instead of wpn).
* This in turn causes the X723 to say that it is not according to ¥ who maintains 79> ¥2 797 and certainly w>7pn,
which in turn causes us (the 2"2w") to surmise that according to ¥"1 even if ¥pIp 71p 'R 72°K 700,
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Therefore when he redeems it from w7717 he redeems according to the formula

of @YW mIm Y97 noa, etc.”® This concludes the citation from the Xn™92, now Moo

explains the inference that w>7pn 7y7 Y2 WIpn0 -
— NNN NI NNYIND NN YPIPN NN WITPNY 29 DY N VITPN NI PYaT 199 X910 IN)

And if the X721 maintains that w>7p» 795 w3, so even though he was w7p»

the ypp and the trees simultaneously, the xn™2 -
— 1PV MNITIRN AR NHNH NTIDY NN AMN NIDT 991D 1YY NN

Should have ruled that he redeems and redeems again, meaning that first he

redeems the trees for their true value (and not with the lesser value of > Www 1 ¥r,

etc.) -
— DYV 9N YIT N2 39D YPIPN HX NI TN

And then he later redeems the ¥»9? according to the formula of =27 ¥97 N2
29w -
— NYIN ANYI NTY YWITPD (1 91 p399) 199992 W 9993 XN 29 9INTI

As 17""9 rules in 19292 @ P9p, ‘one who was wp» a field full of trees -
— 1Y )9INRN NN NTID NNO NINYWO

When he redeems it, first he redeems the trees at their value -
— 09 YPY DXUNNA DINYY 1IN ¥IT 112595 YPIP N9 MM

And he then redeems the land according to the formula of 29 ww 9217 Y97 N2

no> P avwrnna’, the xn) there continues -
— %9)5 WrTPM NN 29 920 NN
It is evident that /7''% maintains w>7pn, etc. v7pn 19° Pya, the X3 continues -
— 5’20 NN 999907 XN DY 71299 N 9% 13N 29 NN

1" challenges 7''7 and asked him from the Xn>s92 of n%277 NX 957, which states
that if he was 0"2% " Yonn MIP°KR '3 woTpn that he is 2>WW 217 Y1 0°2 7719 and makes no mention
of being 7710 the Y™Mwa NI -

— VYTPN NN DY PPy¥a 9INRT NID PIYNY 229 210 KD NIYUM

And the X713 there answers, the Xn°>72 of N°27 DX 1017 1s according to w'' who

maintains 2TP» X177 799 1Y, while 7" maintains WTpn X371 790 YA
— Txm9vp NN 297 YN 19997 XN 19191 MLrwaa Xynnh o1t xnwn

And now the X n3 later infers simply that the Xn*72 maintains w>7p»n 7y 7°v2 for

* The P09 states (10,13 ["MPNR] XpM) that, pw DWAMD DMWY A0 Y7 WAT %09 I3 M 12 WK WTP° IR 77WH DX
no>. This teaches us that for each (2w =van ¥I1) M2 N2 which he was w>7pn immediately after 221, he can redeem
it with fifty o°>pw. For later years he redeems it pro rata at this price (a 2pw less [approximately] for each following
year). This is for a field of grain. It is self-understood that the value of trees (for the same area) exceeds this amount.
26 %3y
" The x°x10 (which begins on X,XY) starts 121 X117 27 NN
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the entire X°310 later in n°27 P79 is according to 77'' -

1WTDN NYD D93 PYA (ow) 1°99Y N90M 13990KT NInRYLY
Following his reasoning which he said in 129y 'on that @s7Pn RY7 78% 13, and he
is M9 the 1"Mw2 IR and then 7719 1M the ¥pap with 90 ¥1, and since the 8012 does not

mention 77191 MM 7719 it is obvious that w>7pn A¥7 1v2 therefore the X773 surmised that it cannot
follow ¥"1 (or even the 7127) who we assume maintain that w>7p»n 179° 1Pya.

In summation: we derive that the Xn°°72 maintains ¥°7p» 797 V2 since it does not mention 7719
77191 1M, however "7 who maintains 727 719° 1°¥2, will surely maintain w77 719 1v2 and will
be required to be 77191 M 770, but no talk regarding '} 12°X which is certainly not ¥p7p ap.

SUMMARY

The 2"2w" maintains that the npY?nn between ¥"1 7127 is by two (or one) NM17°X and
¥"7 maintains that even if 'R 79°X 1737 he is ¥pp 3P (as evidenced in NX 7217 PId
n°27). MBI maintains (there is no proof from N°27 NX 7317 and) that all agree that
by less than three trees he is not ¥p7p 71, and the npYonn is by three trees where
the seller explicitly stated that he is ¥papn (72) 1w.

THINKING IT OVER
1. There seems to be two nP12nn between the 2"awA and MdoIN. One is whether we
are discussing here a case of two trees (0"2w"7) or a case of three trees and he was
ypIP (92) 1w (the view of mooIn). The second is whether ¥"1 maintains the m1p
yPIpP 1P 'R 1K (the view of the 2"awn) or not (MdoIN). Are these two NPmn
interdependent or not?

2. It appears from the way nooIn explains the X3 in N°27 DX 707 (in the first
explanation) that we cannot prove from 11271 ¥"1 that ¥pap 7P 'R 12°R w>7pn, only
from "7 1120,” so why was it necessary for the &1 to discuss the views of 1127
¥"7 (according to the view of w"17 133‘1)?!30

3. What are the relative advantages of the two ways, in which m501n explains the
X773 in N°27 DR 1077

% The n"a7 M amends this to read KT (instead of 11™MKXT).
¥ See footnote # 19.
30 See x"wamm and n'"m.
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